Conditional Equilibrium Analysis System of Service Level and Budget Allocation

For Road Pavement by Deterioration Model
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Abstract: Appropriate cost at an appropriate service level is what any government has to determine
for maintenance and management of infrastructures, and various systems or standards are under
investigated. Supply cost function of service is able to be derived from life cycle cost at certain
minimum level of infrastructures value, while service demand function is able to be derived as a
dissatisfaction level function for service. This study introduced a determination system of service

level and service cost or budget allocation with equilibrium analysis of service demand function and
supply cost function.
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